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Question Bank For BDP Course
&ffz® 215%™ ( Elective Course )

3ifde7 ( Commerce )

AL g ( 1st Paper )
Accountancy & Mathematics : ECO-01

Group-A
Accountancy

What is meant by Value of closing stock?
Closing Stock-xﬂ?ﬂfﬂ'@ ?

Why the Capital Expenditure is spent?

(I & TR Ty SETHH SO 7 1 27 2
What are the causes of Depreciation?

SR 1Y FR Sl I 2

Who prepares the Income and Expenditure account?
(I (W (09 Income & Expenditure A/c (O 2T ?

What types of errors are disclosed by trial balance?
(P G O (FSTINCET €31 AT 2

What does Debit balance of a Personal account represent?
i< AR '(Ofk6 (&7 (& F1ICET 2

Bank Reconciliation Statement is a statement or an account?
= Neared [N & @l Rezer 71 9l farg 2

What types of entries are recorded in Journal proper?
A SIRMICS FT S forfoia w1 27 2

When the Debit note is issued?

(Ifeifs e (e 2 2

In case of partnership, what is the rate of interest allowed on the Partner’s loan?
AR PR I 2T TSR S 77 41 41 77 2

What is the main function of accounting?
FTIRANRICHTsT iy Sy 1 2

What are the different types of preference shares?

ST o TR IR T F 2

What are the important contents of Memorandum of Association?

TN IR R I T ACE 2

Where do the companies deposit money received from applicants for shares?
ORI 1AW 21 S (ATl o (FI=i erstl A0 2

Give some examples of non-current assets?

wibet STifas ey Sriese e |
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Group-B

Mathematics
Ifa:bis4:3, then a®+bh?=?
IMa:b=4:33WS@a*+b?="?
IfxX+y:x—-y=6:3,y:x=?
X+y:X—y=6:32,y:x=7?
x varies inversely withy and ify =10and x =4, theny =5, x = ?
W X, Y- A TE (S AF G2y = 10 EX = 4 TWOE Y = 5 30 X -4 T $9 3(F ?
Ifa®oc b?, boc?
T a3 oc h? T D oc ?
Solve: 81% = 3.9%*3
81¥=3.9"3 %X =?
I£3,6,9, .......... are in an AP, find out the 20" term of the series.
3,6,9, ... 2IfSha 20 O M F12CF ?

If the base is 2v/3, find the value of log169.
169 7 wTollfam s e Feeel T2 (NI 24/3 |

The life of the machine is 10 years and its cost price is Rs.10,000/-. If the depreciation rate is
10% p.a, what will be the price of the machine after 10years?
ST CFF TR 10 29 92 I Rs. 10,000, T &S 727 10% 20 SROY 27 O 10 29 20

e T FO 2L ?

Solve: 4(1-x)< 8

4(1 — X)< 8 AN S |

A line joining (4,6) and (3,—4)points intersects the x-axis which the ratio ?
(4, 6) 8 (3,— 4) RMYIT ALIAGP (FLILA x SFF 71 6 SAICe [iow 27 2

Three vertices of a triangle are (4,0), (0,0) and (0,6), find out the equation of the circle
passing through these vertices.

g fagrerd MR (4,0), (0,0), (0,6), 13 M Rrpeieralr A Jrad FAwee! fNefy Fee
Find out the vertex of a Parabola y? = 4ax.

y? = 4ax S4Iras A FHE F1 20 2

What is the length of latus rectum of a parabola?

SfRqras ASeTCRs e F1 209 2

If f(x) =eX, f'(X) =?

M f(x) = X TWOEF (x) = ?

If x2P3+y?3 = 328 dy/dx = ?

X2/3+y2/3 = 3.2/3 PIG| dy/dX =9




